
�
=$5= '=(1,(��15��������

%850,675=$�67521,$� / 6.,(*2�
]�GQLD����JUXGQLD������URNX�

�
�
�

Z�VSUDZLH�SU]H]QDF]HQLD�GR�X \F]HQLD�QD�RNUHV�GR�WU]HFK�ODW��ORNDOL�L�SRPLHV]F]H �
JRVSRGDUF]\FK�VWDQRZL F\FK�ZáDVQR ü�*PLQ\�6WURQLH� O VNLH��
�
�
�
� 1D� SRGVWDZLH� DUW�� ��� XVW�� �� SNW� �� � XVWDZ\� ]� GQLD� ���PDUFD� ����� U�� R� VDPRU] G]LH�
JPLQQ\P��M�W��']��8��]������U��1U�����SR]������]H�]PLDQDPL��L�DUW�����XVW���L����XVW�����XVWDZ\�
R�JRVSRGDUFH�QLHUXFKRPR FLDPL���M��W��']��8��1U�����SR]�������]������U��–%XUPLVWU]�6WURQLD�
O VNLHJR�]DU] G]D��FR�QDVW SXMH��

�
§ 1�

�
3U]H]QDF]\ü�GR�X \F]HQLD�QD�RNUHV�GR�WU]HFK�ODW�QD�U]HF]�63�=2=��:RMHZyG]NLHJR��
6]SLWDOD�GOD�1HUZRZR�L�3V\FKLF]QLH�&KRU\FK�Z�6WURQLX� O VNLP�Q�Z�QLHUXFKRPR FL���

�
$��Z�EXG\QNX�SU]\�XO��0RUDZND�����
���������������6DOD�JLPQDVW\F]QD�R�SRZ�������P � ��

���������������������*DOHULD�R�SRZ��������P � ��
���������������������.RWáRZQLD�R�SRZ��������P � �
�

$�� Z�EXG\QNX�SU]\�XO�0RUDZND����
��
�������������SRPLHV]F]HQLH�WUDIRVWDFML�R�SRZ�������P � �

�
QD�FHOH�G]LDáDOQR FL�RSLHNX F]R�OHF]QLF]HM��

�
§ 2�
�

:\NRQDQLH�]DU] G]HQLD�SRZLHU]D�VL �.LHURZQLNRZL�5HIHUDWX�*RVSRGDUNL�1LHUXFKRPR FLDPL�L�
6SUDZ�:LHMVNLFK�8U] GX�0LHMVNLHJR�Z�6WURQLX� O VNLP��
�

§ 3�
�
=DU] G]HQLH�ZFKRG]L�Z� \FLH�]�GQLHP�SRGSLVDQLD��
�

�
����������������
�

�
3LHF] WND�SRGáX QD�R�WUH FL��
%XUPLVWU]�6WURQLD� O VNLHJR�
�PJU�=ELJQLHZ�àRSXVLHZLF]�

RUD]��QLHF]\WHOQ\�SRGSLV�
�
�


